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This section contains six questions, attempt any three qucstlona
Answer must be dcscnptlve |
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What do you understand by “Transfer of Capital Asset”? St:
transfer ?
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FIWT | How is the total income of a firm computed ? Discuss in brief the provisions of IncomeTax "
Act in this respect.
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Dr. Devendra Dutt is the owner of two houses. One of which the municipal valuation is Rs. 20, ()U() is }.i-'
occupied by him for his own residence and the other, of which the municipal valuation is Rs. 32, ()()0 is
let-out at Rs. 4,000 per month. The expenses of both the houses are following :
Municipal Taxes Rs. 2600, Land Revenue for the let out house Rs. 1,000, Interest on loan taken tu :
repair for thelet out house Rs. 3,000, Fire Insurance Premium for the houses Rs. 2000. -L
Compute hlsmcomef house propcrly hcad for the assessment year 2009-10. -~ 4
6. T 8T A ¢ 131 2maﬁma&%mﬁnmq-aﬁaﬁ%mﬁwhwaézrm-wé: 7
 foe suet SRR o A :-ma?rm T T4 19 FIFIE: Mr. Narendra is a cloth merchant. From the 4
following Profit and Loss A/C for the year ended 31st March, 2009 compute his income from‘- :
; busmcss and his Gross Total Income for the assessment year 2009-10: v
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Ambica Unsolved Papers
This section contains threc,questions, attempt any two questions. Each question carries 5 marks.
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“The incidence of income-tax depends upon the residential status of an assessee” Discuss.
8. Frfefad s qmmy - Setaiarmm, 1961 $ TRt 2 aae5T |

Discuss the provisions of Income Tax Act, 1961 regardingthe following :
(1) ﬁﬂWTﬁ?F 3T4TH | Rent free Accommod-tion,
(i) HIXFTH G | Facility of Motor-Car.
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What doyou mean by Advance Payment of Tax? When Such a tax is tobe paid ?
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10. Write the short notes on the following :
(i) MHAWSF 3T | Casual Income. :
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(ii) amitfaagm | Unabsorbed Depreciation. :
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(iii) T T 3 | Deemed Income.
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- (iv) % W HTR | Assessee in Default.
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(V) T W SIS S & | Deduction of Income Tax at sources.
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